INSTALLATION MANUAL

Full Motion LED, LCD TV Wall Mount

ZLA09-443

tocoococococoeooo |
coocococoocococcoco oo |

—

0 0g
9 o€

)
|

o
0
0
o)
0
T
;A HS

VESA . aa
75x75 100x100 26 = 5 5

200x200 400x400 35kg/77\bs

TVs

P —X——-X K
(e = = == e —

CAUTION: DO NOT EXCEED RATED LISTED WEIGHT. SERIOUS INJURY OR PROPERTY DAMAGE MAY OCCUR!



4mm Allen key (x1)
C

M5x14 (x4) M6x14 (x4)
M-A M-B

M8x30 (x4)  M8x45 (x4)
M-E M-F

@

ST6.3x55 (x4) concrete anchor (x4) D6 washer (x4)
W-A W-B W-C

=l




	页 1
	页 2

